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QUESTION 1

A. Specify a Subscriber Code for the content type.

B. Make sure it is a free-form content type.

C. Make sure it is a non-free-form content type.

D. Do nothing. After the content type is created, it is available for use in all applications.

Correct Answer: A

QUESTION 2

You want to use the Tree Management feature of Functional Setup Manager to organize data into hierarchies.
Which option represents seeded tree structures?

A. organization, job, division, geographies

B. organization, job, department, geographies

C. organization, position, division, geographies

D. organization, position, division, establishment

E. organization, position, department, geographies

Correct Answer: E

QUESTION 3

An enterprise operates in a country where contract information is required for employees.
What type of employment model can the enterprise use?

A. multiple assignments

B. contract assignment

C. single assignment

D. single assignment with contracts

E. multiple assignments with contracts

Correct Answer: D

QUESTION 4
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An IT company\\'s consulting department based in Bangalore goes for two team outing events every year. However, the
support department, also based in Bangalore, goes for four team outing events every year. All employees in these
departments go for the respective team outing events.

How should you define the calendar years?

A. Use Line Manager Hierarchy as the Hierarchy type for the calendar event.

B. Use Organization Hierarchy as the Hierarchy type for the calendar event.

C. Use Absence Approval Hierarchy as the Hierarchy type for the calendar event.

D. Use Geographic Hierarchy as the Hierarchy type for the calendar event.

E. Use Project Manager Hierarchy as the Hierarchy type for the calendar event.

Correct Answer: B

QUESTION 5

A manager checks the availability of a worker. The manager is not aware that the worker does not have a work
schedule assigned. Which of the three items will be used to determine the availability of a worker? (Choose three.)

A. Time Sheet

B. Absences

C. Standard Working Hours
D. Calendar Events

E. Contract Data

Correct Answer: BCD
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